CJ' doubtnut

India's Number 1 Education App

MATHS

BOOKS - PREMIERS PUBLISHERS

TRIGONOMETRY

Solution To Exercise 6 1

1. Prove that following identities

cot 0 + tan @ = sec@ cos ec

° Watch Video Solution

2. Prove that following identities

tan® @ + tan® 6 = sec* 6 — sec’ 0

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_H8BBSXfKNUIX
https://dl.doubtnut.com/l/_tCEbJD4THDRc

3. Prove that following identities
1—tan?6

= tan’ 6
cot?6 — 1

° Watch Video Solution

4. Prove that following identities

cos 0

—— —secl — tan#f
1+ sinf

° Watch Video Solution

5. Prove that following identities

1+ siné
—%n = secl + tan@
1 — sinf

° Watch Video Solution



https://dl.doubtnut.com/l/_tCEbJD4THDRc
https://dl.doubtnut.com/l/_sj06tGQXsyt3
https://dl.doubtnut.com/l/_MYNsXx655HMA
https://dl.doubtnut.com/l/_nHwH2Qn7jERo

6. Prove that following identities

1—i—sin0+ 1—si11(9_2 0
1 —sinf 1+ sinf sec

° Watch Video Solution

7. Prove that following identities

sec’ 0 = tan® @ + 3tan®fsec’H + 1

° Watch Video Solution

8. Prove that following identities

(sin@ + sec)” + (cos 6 + cosecd)’ = 1 + (sec + cos ech)’

° Watch Video Solution

9. Prove that following identities

sect 0(1 — sin? 0) — 2tan’0 =1


https://dl.doubtnut.com/l/_HKxAzLw49vYG
https://dl.doubtnut.com/l/_TEHwauq8eUtR
https://dl.doubtnut.com/l/_ePepdbIPsjyc
https://dl.doubtnut.com/l/_bUzL7Cr0N6l7

° Watch Video Solution

10. Prove that following identities

cot @ — cos @ B cosec — 1
cot@ + cosf  cosech + 1

° Watch Video Solution

11. Prove that following identities

sinA — sinB n cos A — cos B B
cos A + cos B sinA +sinB

o Watch Video Solution

12. Prove that following identities

sin> A + cos® 4 sin> A — cos® 4 _ 4
sin A + cos A sinAd —cosA

° Watch Video Solution



https://dl.doubtnut.com/l/_bUzL7Cr0N6l7
https://dl.doubtnut.com/l/_21JiQGuZFel7
https://dl.doubtnut.com/l/_6hEneo1PPyVX
https://dl.doubtnut.com/l/_GDgHXP5Bi4TY

13.1f sin@ + cos @ = \/5, then prove that tanf + cot § = 1

o Watch Video Solution

14.1f 1/3sin® — cos§ = 0, then show that tan 30 =

3tanf — tan3 6

1— 3tan®6
° Watch Video Solution
15. If Y _m and c?sa =n then prove that
cos 8 sin 8

(m2 + nz)cos2 B = n’

o Watch Video Solution

16. If cotf + tanf = z and secd —cosf =y

CORSICREES

w o

then prove that

o Watch Video Solution



https://dl.doubtnut.com/l/_v2lC7Bqm96vf
https://dl.doubtnut.com/l/_9pKdda67YbMA
https://dl.doubtnut.com/l/_pOTcDcc8Pky0
https://dl.doubtnut.com/l/_8SIb9z76DZRN
https://dl.doubtnut.com/l/_BoXTk2WQlZYq

17. i

sinf + cos @ = p and sec + cos ecl = q, then prove that q(p2 - 1) =2

o Watch Video Solution

18. If sin0(1 + sin? 0) = cos? 6, then prove that

cos® 0 — 4cos?0 + 8cos’h = 4

° Watch Video Solution

cos 0 1 a? —

19. If —————— = — then prove that

= siné.
1+ siné a a?+1 -

° Watch Video Solution

Solution To Exercise 6 2



https://dl.doubtnut.com/l/_BoXTk2WQlZYq
https://dl.doubtnut.com/l/_i0McbUy7J64Y
https://dl.doubtnut.com/l/_67HdVG7KBEm2

1. Find the angle of elevation of the top of a tower from a point on the

ground, which is 30 m away the foot of a tower of height 10,/3m.

o Watch Video Solution

2. A road is flanked on either side by continuous rows of house of height
4,/3 m with no space in between them. A pedestrain is standing on the
median of the road facing a row house. The angle of elevationn from the

pedestrain to the top of the house is 30°.Find the width of the road.

o Watch Video Solution

3.To a man standing outside his house. The angles of elevation of the top
and bottom of a window are 60° and 45° respectively. If the height of
the man is 180 cm and if he is 5m away from the wall. What is the height

of the window? (/3 = 1.732).

o Watch Video Solution



https://dl.doubtnut.com/l/_fFxyc8SjBzUn
https://dl.doubtnut.com/l/_DPTeJ70QHTFB
https://dl.doubtnut.com/l/_iZCr5rKPU3HD

4. A statue 1.6 m tall stands on the top of a pedestal. From a point on the
ground, the angle of elevation of the top of the statue is 60° and from
the same point angle of elevation of the top of the pedestal is 40°. Find

the height of the pedestal. (tan40° = 0.8361, /3 = 1.732)

o Watch Video Solution

5. A flog pole 'h' metres is on the top of the hemispherical dome of radius
'r' metres. A man is standing 7m away form the dome. Seeing the top of
the pole at an angle 45° and moving 5 m away from the dome and
seeing the bottom of the pole at angle 30°. Find

the height of the pole

o Watch Video Solution

6. The top of a 15m high tower make an angle of elevation of 60° with the
bottom of an electronic pole and angle of elevation of 30° with the top

of the pole. What is the height of the electric pole?


https://dl.doubtnut.com/l/_0qNguA9YI01E
https://dl.doubtnut.com/l/_7uonz7RL0MWz
https://dl.doubtnut.com/l/_9YWtSj7JJtMD

° Watch Video Solution

7. A vertical pole fixed to the ground is divided in the ratio 1:9 by a mark
on it with lower part shorter than the upper part. If the two parts
subtend equal angles at a place on the ground, 25 m away from the base

of the pole, what is the height of the pole?

° Watch Video Solution

8. A traveler approaches a mountain on highway. He measures the angle
of elevation to the peak at each milestone. At two consecutive milestones
the angles measured are 4° and 8°.What is the height of the peak if the
distance between consecutive milestones is 1 mile.

(tan4° = 0.0699, tan8° = 0.14405)

° Watch Video Solution

Solution To Exercise 6 3


https://dl.doubtnut.com/l/_9YWtSj7JJtMD
https://dl.doubtnut.com/l/_8t4FvgPNBPW1
https://dl.doubtnut.com/l/_Uuopbn8uQ3fG

1. From the top of a rock 50sgr(3) m high, the angle of depression of car
on the ground is observed to be 30°. Find the distance of the car from

the rock.

o Watch Video Solution

2. The horizontal distance between two building is 70m. The angle of
depression of the top of the first building when seen from the top of the
second building is 45°. If the height of the second building is 120 m, find

the height of the first building.

o Watch Video Solution

3. From the top of the tower 60 m high the angles of depression of the
top and bottom of a vertical lamp post are observed to be 38° and 60°
respectively. Find the height of the lamp post.

(tan38° = 0.7813, /3 = 1.732)

| o WMl L \ o dan C Al ikl n



https://dl.doubtnut.com/l/_caS2N7GOgtzO
https://dl.doubtnut.com/l/_Pf5dK5SgMCPg
https://dl.doubtnut.com/l/_0xe8n4oHZJ7t
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4. An aeroplane at an altitude of 1800m finds that two boats are selling
towards it in the same direction. The angles of depressionn of the boats
as obversed from the aeroplane are 60° and 30° respectively. Find the

distance between the two boats. (\/5 = 1.732).

o Watch Video Solution

5.From the top of a lighhouse, the angles of depression of two ships on
the opposite sides of it are observed to be 30° and 60°. If the height of
the lighthouse is h meters and thhe line joining the ships passes through
the foot of the lighthouse. show that the distance between the ships is

4h

— m.

V3

o Watch Video Solution



https://dl.doubtnut.com/l/_0xe8n4oHZJ7t
https://dl.doubtnut.com/l/_3LtDcxKjLoyS
https://dl.doubtnut.com/l/_DyEOOhlspRd3

6. A lift in a building of height 90 feet with transparent glass walls is
descending from the top of the building. At the top of the building, the
angles of depression to a fountain in the garden is 60°. Two minutes
later, the angle of depression reduces to 30°. If the fountain is 30,/3 feet
from the entrace of the lift, find the speed of the lift, and the speed of the

lift which is descending.

° Watch Video Solution

Solution To Exercise 6 4

1. From the top of tree of height 13m the angle of elevation and

depression of the top and bottom of another tree are 45° and 30°

respectively. Find the height of the seconds tree. (\/3 = 1.732).

° Watch Video Solution



https://dl.doubtnut.com/l/_rEurv3jddfGp
https://dl.doubtnut.com/l/_egr9cB73SlHV

2. Aman is standing on the deck of a ship, which is 40m above water level.
He observes the angle of elevation of the top of a hill as 60° and the
angle depression of the base of the hill as 30°. Calculate the distance of

the hill from the ship and the height of the hill, (/3 = 1.732).

o Watch Video Solution

3.If the angle of elevation of a cloud from a point 'h' meterss above a take
is 1 and the angle of depression of its reflection in the take is 6. Prove

that the height that the cloud is located from the ground is
h(tan6(1) + tan6s)

tan 92 — tan 92

o Watch Video Solution

4.The angle of elevation of the top of cell phone tower from the foot of a
high apartment is 60° and the angle of depression of the foot of the
tower from the top of the apartment is 30°. If the height of the

apartment is 50m, find the height of the cell tower. According to


https://dl.doubtnut.com/l/_JTHPstygsx0a
https://dl.doubtnut.com/l/_GtIvFRpQbnsm
https://dl.doubtnut.com/l/_jSAIrlQ21fWj

radiations control norms, the minimum height of the cell phone tower
should be 120m. State if the height of the above mentioned cell phone

tower meets the radiation norms.

o Watch Video Solution

5. The angles of elevation and depression of the top and bottom of a
lamp post from the top of a 66m high apartment are 60° and 30°
respectively, find

The height of the lamp post.

o Watch Video Solution

6. The angles of elevation and depression of the top and bottom of a
lamp post from the top of a 66m high apartment are 60° and 30°
respectively, find

The difference between height of the lamp post and the apartment.

o Watch Video Solution



https://dl.doubtnut.com/l/_jSAIrlQ21fWj
https://dl.doubtnut.com/l/_LS9lCf8kSjeE
https://dl.doubtnut.com/l/_n3ZVGm8aQjBw

7. The angles of elevation and depression of the top and bottom of a
lamp post from the top of a 66m high apartment are 60° and 30°
respectively, find

The distance between the lamp post and the apartment (\/5 = 1.773).

° Watch Video Solution

8. Three villagers A, B and C can see each other across a valley. The
horizontal distance between A and B is 8 km and the horizontal distance
between B and C is 12 km. The angle of depression of B from A is 20° and
the angle of elevation of C from B is 30°. Calculate:

the vertical between A and B.

° Watch Video Solution

Solution To Exercise 6 5



https://dl.doubtnut.com/l/_n3ZVGm8aQjBw
https://dl.doubtnut.com/l/_2I1qXM7tkDzS
https://dl.doubtnut.com/l/_fLbZ0hwOjCaV

1. The value of sin? § + —————— is equal to
1+ tan?6

A tan’ 0
B.1
C.cot’ 0

D.O

Answer: B

° Watch Video Solution

2. tan 6 cos ec’d — tan 6 is equal to

A.secl
B.cot? @
C.sinf

D. cot 0


https://dl.doubtnut.com/l/_RzLa9P4J6fHV
https://dl.doubtnut.com/l/_vISU1OMPSs9U

Answer: D

° Watch Video Solution

3. (sina + coseca)® 4 (cos a — seca)? — tan® o — cot? o = ?

A9
B.7
C.5

D.3

Answer: B

° Watch Video Solution

4, If sin@ + cosf = a and secl + cosecd = b, then the value of

b(a® — 1) is equal to


https://dl.doubtnut.com/l/_vISU1OMPSs9U
https://dl.doubtnut.com/l/_1Pjj6OSdO6s1
https://dl.doubtnut.com/l/_YlDqh5HEuePo

A.2a

B. 3a

C.o

D. 2ab

Answer: A

o Watch Video Solution

5
5.I1f 5z = secf and P tan6, then 2% — — s equal to
x

A. 25

C.5

D.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YlDqh5HEuePo
https://dl.doubtnut.com/l/_Mru2BW7A37rU

6.1f sin® = cos @ then 2tan® 6 + sin?0 — 1 =

Answer: B

° Watch Video Solution

7.1f x = atanf and y = bsec@ then

N
.ﬁ—g_
BT Y
a? 2
2 2
L YL


https://dl.doubtnut.com/l/_Mru2BW7A37rU
https://dl.doubtnut.com/l/_Jc1klnjAvpDM
https://dl.doubtnut.com/l/_zvFHkiAsIsa2

Answer: A

° Watch Video Solution

8.(1 + tané + sech)(1 + cot § — cos ec) is equal to

A.O
B.1

C.2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zvFHkiAsIsa2
https://dl.doubtnut.com/l/_Scu5p9xaIF7I

9. acot@ + bcosecd = p and beot @ + acosecd = g then p*> —¢* is

equal to
Aa® — b
B.b% — a2
C.a®> + b
D. b-a

Answer: B

o Watch Video Solution

10. If the ratio of the height of a tower and the length of its shadow is
\/3 :1,what is the angle of elevation of the Sun?

A.45°

B.30°

C.90°


https://dl.doubtnut.com/l/_XRCpcKnouMpB
https://dl.doubtnut.com/l/_2sPpju1N7LlJ

D.60°

Answer: D

° Watch Video Solution

11. The electric pole subtends an angle of 30° at a point on the same level
as its foot. At a second point 'b' metres above the first, the depression of

the foot of the tower is 60°. The height of the tower (in towers) is equal

to

>
<I
S

&| - | w| o
w

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2sPpju1N7LlJ
https://dl.doubtnut.com/l/_ZdyUfL7sRu0d

12. A tower is 60 m height. Its shadow is x metres shorter when the sun's

altitude is 45° than when it has been 30°, then x is equal to:

A 4192 m

B.43.92 m

C.43 m

D.45.6 m

Answer: B

o Watch Video Solution

13. The angle of depression of the top and bottom of 20 m tall building
from the top of a multistorised building are 30° and 60° respectively.
The height of the multistoried building and the distances between two

building (in metres ) is

A. 20, 10,/3


https://dl.doubtnut.com/l/_4ptcX3B66wjX
https://dl.doubtnut.com/l/_s0K1vO2fPmF4

B. 30, 5,/3
C. 20, 10

D. 30, 10,/3

Answer: D

o Watch Video Solution

14. Two persons are standing 'x' metres apart from each other and the
height of the first person is double that of the other. If from the middle
points of the linejoining their their feet an observe finds the angular
elevations of their tops to be complementary, then the height of the

shorter person (in metres) is

A 2z
T
B. ——
22
T
C.—


https://dl.doubtnut.com/l/_s0K1vO2fPmF4
https://dl.doubtnut.com/l/_YZcCgRc3aE80

Answer: B

° Watch Video Solution

15. The angle of elevation of a cloud from a point h metres above a lake is
B. The angle of depression of its reflection in the lake is 45°. The height

of location of the cloud from the lake is

h(1 + tan )
1—tanp
h(1 — tan )
1+ tanpg

C. htan(45° — B)

D. none of these

Answer: A

° Watch Video Solution

Solution To Unit Exercise



https://dl.doubtnut.com/l/_YZcCgRc3aE80
https://dl.doubtnut.com/l/_FrgxurlYeGOK
https://dl.doubtnut.com/l/_ceyVtIvijQCM

1. Prove that

ind—1
t2 A((secA — 1) /(1 +sin 4 LY (ki I
cot® A((sec )/ (14 sinA)) + sec (1—|—secA

° Watch Video Solution

2. Prove that
tan’ 0 — 1

=1—2cos?0
tan26 + 1

° Watch Video Solution

1+ sin@ — cos 6 2_ 1 — cos@
1+ sin@ + cos @ 14 cosf

3. Prove that (

o Watch Video Solution

4, If zsin®6 + ycos®H = sinfcosh and xsinf = ycosh, then prove

that 22 + ¢? = 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_ceyVtIvijQCM
https://dl.doubtnut.com/l/_rMfis6WwpLqU
https://dl.doubtnut.com/l/_4i0jwQFuGo7C
https://dl.doubtnut.com/l/_jz471tD6UMBP

5.1fa cos @ -b sinf =c,showthatasinf+bcos @ = + 1/a? + > — 2

o Watch Video Solution

6. A bird is sitting on the top of a 80 m high tree. From a point on the
ground, the angle of elevation of the bird is 45°. The bird flies away
horizontallly in such away that it remained at a constant height from the

ground. After 2 seconds, the angle

o Watch Video Solution

7. An aeroplane is flying parallel to the Earth's surface at a speed of 175
m/sec and at a height of 600m. The anlge elevation of the aeroplane from
a point on the Earth's surface is 37° at a given point. After what period of
time does the angle of elevation increase to 53°?

(tan53° = 1.3270, tan37° = 0.7536).

| o Wik L\ dan C Al ikl n


https://dl.doubtnut.com/l/_jz471tD6UMBP
https://dl.doubtnut.com/l/_6TRNmawd6zKS
https://dl.doubtnut.com/l/_nyUvu2jUxisY
https://dl.doubtnut.com/l/_0vO8qQiniDyK
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8. A bird is flying from A towards B at an angle of 35°, a point 30 km away
from A. At B it charges its course of flight and heads towards C on a
bearing of 48° and distance 32 km away.
How far is C to the North of B?

A. How far is B to the North of A?

B. How far is B to the west of A?

C.How far is C to the North of B?

D. How far is C to the East of B?

Answer:

o Watch Video Solution

9. Two ships are sailing in the sea on either side of the lighthouse. The

angles of depression of two ships as observed from the top of the


https://dl.doubtnut.com/l/_0vO8qQiniDyK
https://dl.doubtnut.com/l/_JeXGmhQ5zv6E
https://dl.doubtnut.com/l/_E3RZdDhcKzAp

lighthouse are 60° and 45° respectively. If the distance between the

V3+1

NE

ships is 200( ) metres, find the height of the lighthouse.

o Watch Video Solution

10. A building and a statue are in opposite side of a street from each
other 35m apart. From a point on the roof of building the angle of
elevationof the top of statue is 24° and the angle of depression of base
of base of the statue is 34°. Find the height of the statue.

(tan24° = 0.4452, tan34° = 0.6745).

o Watch Video Solution

Solution To Thinking Corner

1. When will the values of sinf and cos 6 be equal?

o Watch Video Solution



https://dl.doubtnut.com/l/_E3RZdDhcKzAp
https://dl.doubtnut.com/l/_ztNlL7d6ZfAQ
https://dl.doubtnut.com/l/_kWyXDNZzUNVN

2. For what values of 0, sinf = 27

° Watch Video Solution

3. Among the six trigonometric quantities, as the value of angle 6
increase from 0°t090°, which of the six trigonometric quantities has

undefined values?

° Watch Video Solution

4.The angle elevation of the top of a tower from a point C on the ground.

Which is 30 m away from the foot of the tower is 30° . Find the height of


https://dl.doubtnut.com/l/_GvST95XlgBxd
https://dl.doubtnut.com/l/_rP9saEUhQxjb
https://dl.doubtnut.com/l/_YwCij7XJikom

the tower.

H JOom

° Watch Video Solution

5.Let 0° < 6 < 90°. For what values of 6 does

A.sinf > cos 6,

B.cos 6 > sinf,

C.secf = 2tané,

D.cos ecd = 2cot 6.

Answer:


https://dl.doubtnut.com/l/_YwCij7XJikom
https://dl.doubtnut.com/l/_vwsUHyqhpkJf

° Watch Video Solution

6. What type of triangle is used to calculate heights and distances?

° Watch Video Solution

7. When the height of the building and distances from the foot of the
building is given, which trigonometric ratio is used to find the angle of

elevation?

° Watch Video Solution

8. If the line of sight and angle of elevation is given, then which
trigonometric ratio is used

to find the height of the building,

° Watch Video Solution



https://dl.doubtnut.com/l/_vwsUHyqhpkJf
https://dl.doubtnut.com/l/_PRBS92upXECU
https://dl.doubtnut.com/l/_kjhxR1VNI5Xs
https://dl.doubtnut.com/l/_wRxjAl9W5uLs
https://dl.doubtnut.com/l/_RG3g9YcsZs0A

9. If the line of sight and angle of elevation is given, then which
trigonometric ratio is used

to find the distance from the foot of the building.

° Watch Video Solution

10. What is the minimum number of measurements required to

determine the height or distance or angle of elevation?

° Watch Video Solution

Solution To Progress Check

1. The number of trigonometry ratio is

° Watch Video Solution

2.1 — cos20iS .


https://dl.doubtnut.com/l/_RG3g9YcsZs0A
https://dl.doubtnut.com/l/_cM4VjJzz08QG
https://dl.doubtnut.com/l/_BlrPP0doSyd9
https://dl.doubtnut.com/l/_w7wCxkQJ6Gaq

° Watch Video Solution

3.(sech + tanf)(sech — tanf) = .........

° Watch Video Solution

4. (cot 6 + cos ech)(cot @ — cos ech) iS wmmrrsnn.

° Watch Video Solution

5.c060°sin30° + cos 30°sin60°=__.

° Watch Video Solution

6.tan 60° cos 60° + cot 60°sin60° = _ .

° Watch Video Solution



https://dl.doubtnut.com/l/_w7wCxkQJ6Gaq
https://dl.doubtnut.com/l/_WKrUNuJhkRJH
https://dl.doubtnut.com/l/_Cxa4wG7zY4Ab
https://dl.doubtnut.com/l/_9hfPwzVrhlFp
https://dl.doubtnut.com/l/_0Dws1M06bmXS
https://dl.doubtnut.com/l/_ND5hFDjF7X2A

7.(tan45° + cot 45°) + (sec45° cos ec4b® ) iS v

° Watch Video Solution

8.secl = cosecl if Ois ...

° Watch Video Solution

9.cot @ = tan@ if Ois ..

° Watch Video Solution

10. The line drawn from the eye of an observe to the point of object is

° Watch Video Solution



https://dl.doubtnut.com/l/_ND5hFDjF7X2A
https://dl.doubtnut.com/l/_7hGfBXc2pOwV
https://dl.doubtnut.com/l/_awFzIR4ZHFTV
https://dl.doubtnut.com/l/_V4Uty0UorQI6

11. When the line of sight is above the horizontal level the angle formed is

o Watch Video Solution

12. The angle of elevation ___ as we move towards the foot of the vertical

object.

o Watch Video Solution

13. When the line of sight is above the horizontal level the angle formed

is

o Watch Video Solution

Other Important Objective Type Questions



https://dl.doubtnut.com/l/_1UJb4UNR9NwC
https://dl.doubtnut.com/l/_B1mhDRh6YVf6
https://dl.doubtnut.com/l/_GHCVLr9KrSGp

1.sec(90° — ) =

..................

A. cos ec
B.tan@
C.sinf

D. cos 0

Answer: A

o Watch Video Solution

2.(cos0° +sin90°) X (tan30° x tan60°) is:

Al
B.2
C.3

D.O


https://dl.doubtnut.com/l/_9VXnXvBwoQAf
https://dl.doubtnut.com/l/_HObdp0BD25yt

Answer: B

° Watch Video Solution

3. \/cos ec’ — cot? f is:

A.tan? 6
B.sin@
C.1

D.O

Answer: C

° Watch Video Solution

cos ec cos 0 0

cos 6 sinf

A.sec’ 6


https://dl.doubtnut.com/l/_HObdp0BD25yt
https://dl.doubtnut.com/l/_ujGXszZp8xvO
https://dl.doubtnut.com/l/_c8rjmb2lCGed

B. cos ecl

C.cot @

D.tan @

Answer: D

o Watch Video Solution

5. (secf + tan@)(secd — tanf) =

A.O

B.1

C.-1

D. not defined

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_c8rjmb2lCGed
https://dl.doubtnut.com/l/_ydyB1Athvlqw
https://dl.doubtnut.com/l/_ieuaD6cqWrZA

.............

6. (tan45° + cot 45°) + sec? 45° =

Al
B.2
C.4

D.3

Answer: C

° Watch Video Solution

7.cos 30°sin60° 4+ cos 60°sin30° =

........................

A1l


https://dl.doubtnut.com/l/_ieuaD6cqWrZA
https://dl.doubtnut.com/l/_reU699uDGPVM

Answer: A

° Watch Video Solution

1 in
8. ﬂ = secl + x. Then x is:
1—sinf

A.sin @
B. cos 0
C.tan6

D. cot 0

Answer: C

° Watch Video Solution

9.1fz = rcosf,y = rsinf, then 2>+ y?> = ?

Al


https://dl.doubtnut.com/l/_reU699uDGPVM
https://dl.doubtnut.com/l/_cM5q8y4odMJo
https://dl.doubtnut.com/l/_rfTt0SzjQDdB

D. /7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rfTt0SzjQDdB

10.In AABC with C =90°, AC = BC = 1. Find cos#f.

A

Answer: B

[ o


https://dl.doubtnut.com/l/_dJSibE3XQ5EO

l & Watch Video Solution J

11. What is the minimum number of measurements required to determine

the height or distance or angle of elevation?

A1l
B.2
C.3

D.4

Answer: B

° Watch Video Solution

12. Simplify: cos? + ————:
plify 1+ cot? 6

A.cot? 6

B.1


https://dl.doubtnut.com/l/_dJSibE3XQ5EO
https://dl.doubtnut.com/l/_5bzZg7ySkAgJ
https://dl.doubtnut.com/l/_nHZPPzEc3sl6

C.tan?0

D.O

Answer: B

o Watch Video Solution

13. (sina + cos eca)® 4 (cos a — seca)? — tan® a0 — cot® o = ?

A 4
B.3
C.7

D.9

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nHZPPzEc3sl6
https://dl.doubtnut.com/l/_bkqRLgnjzxEn

2yl
14.Ifz = acosf,y = bsinf then — + - =7

b2

Al

C.0

D.2

Answer: A

° Watch Video Solution

15.1f sinf = cos 0, then the value of '0"is

A. 30°

B.60°

C.90°

D. 45°


https://dl.doubtnut.com/l/_m45qN0zMa4Pe
https://dl.doubtnut.com/l/_PCLs33uQ8Fgd

Answer: D

° Watch Video Solution

16.If sinf = % then cos@ =7

Answer: B

° Watch Video Solution

2sinf + 3cos O .
is:
3sinf + 2cos 0

3
17.If tanf = T find

N
" 12


https://dl.doubtnut.com/l/_PCLs33uQ8Fgd
https://dl.doubtnut.com/l/_AmSWvhTnnFNg
https://dl.doubtnut.com/l/_ePcZw8UQLIoG

Answer: C

° Watch Video Solution

18.1f sin® + cos @ = /3 then tan® + cotf = ?

1

V3
B./3

C.o

D.1

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ePcZw8UQLIoG
https://dl.doubtnut.com/l/_lAVAO7Vidir4
https://dl.doubtnut.com/l/_ch2zTTGjkQLD

19.1f /3sinf — cos§ = 0 then 3tané — tan’ @ is:

Al

N

Sl sl

o

Answer: C

° View Text Solution

. sin(90 — B)cos 0
20. Simplify: — + 1=
cos(90 — 6)sin @

A. cos ect

B. cos ec’f

C.secf

D. sec’ 0


https://dl.doubtnut.com/l/_ch2zTTGjkQLD
https://dl.doubtnut.com/l/_IdwT9imL4PS7

Answer: B

° Watch Video Solution

21. A tower is 100 m high. Its shadow is x meters shorter, when the sun's

attitude is 45° than when it is 30°. Then value of x in meters is:

A.92.6m

B.73.2m

C.173.2m

D.45.6m

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_IdwT9imL4PS7
https://dl.doubtnut.com/l/_LFKKXBAqtcXg

22. Complete the following

22. 1 (a) 1
secO
23, [cot(90-6) (b) sec 6
24. V1 +1tan?0y/1 + cot?8(sin® — cos 0) (c)tan ®
|25, 1an’6 (d) cos 6
! 1+ — =
| 1 +secB

1§

° Watch Video Solution



https://dl.doubtnut.com/l/_IVu4vQug8T8E

